| Efficiency vs Dxy |

>0.01,
<

Ea A
00 e R
< A
@OOS—""E‘"""i """" SR H """" e
ko) S S
O e A A I 0 S A
© : : : : : : : : :
0.006 it
T
R -
003
002
R = e e

o+

Rat

0.95

| Efficiency vs Dz |

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V00UI_RO0000000T_Global
—e— DQM_V0001_R000000001__Global
—+— DQM_V0001_R000000001__Global

MKFIT_baselne
mKkFit_var
mkFit_jcoreNoClean

nND.05
S

0.015
0.01
0.005

YT SR B
3 : :
Hoap
O N H
G035 preseeee :
c 5 5

VN0tc| e S
0,025t oveee

117 R

............................

oy
ol

10

2030
TP dz (cm)

—+— DQM_V0001_R000000001__Global___mkFit_jcore50maxCand-33DUPremoval




	Contents
	Page 1


